Ki, Mobility

N

Flip for x:panda Push Wheel Lock 12" Wheels

Item Number Part Number Description Quantity
Wheel Lock Assembly, Std Push, Right, Flip, 12"

la,2-9 503417 Wheels 1
Wheel Lock Assembly, Std Push, Left, Flip, 12"

1b,2-9 503418 Wheels 1
Wheel Lock Assembly, Std Push, PAIR, Flip, 12"

la,1b,2-9 503419 Wheels 1

3 001905 Nut, Slide, Flip 1

4 102792 M6 x 25, HHCS, BIk Zn 2

5 101835 M6 Lock Washer Blk Zn 2

6 100658 M6 Nylock Nut Blk Zn 2

7 100746 M6 Flat Washer Blk Zn 2

8 003156 Spacer .7"0D x .315"ID x .485" 2

9 001019 Bearing Shaft Upper 2

08-06-2025



